Lior Silberman’s Math 101 58

27. ALTERNATING SERIES (15/3/2017)
Goals:
(1) Applying the test
(2) Tail estimates

Review of the (limit) comparison test
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Math 101 — WORKSHEET 27
ALTERNATING SERIES

1. CONVERGE OR DIVERGE?

(1) Determine, with explanation, whether the following
series converge or diverge.
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(your answer will depend on p)
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2. ERROR ESTIMATES

(3)(a) It is known that 1 — 3435 —3++—g+- - =log2.
How many terms are needed for the error to be
less than 0.017
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How many terms are needed for the error to be
less than 0.0017
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